googo 10,20 20080 60 16 0

58, 0000 A00O0O0O0O0OOOe«OOOOOOO

a—-3 1 2 1 a+2 1 2 -1
2 a+1 1 1 5 a-3 -4 1 Loaa
_ a _ _ _
(1) (2) B) [a 1 a
-3 1 a+2 1 —1 0 a—1 1
a a 1
-3 1 2 a+1 3 1 2 a—2
59. 0000 A00OOO0OOOOOOGb,cO0ODOOOO
1 1 1 1 0 0 c 1
0 1 1 1 0 0 0 b 1 0
1 2 0 1 b 3
S 0o o0 1 1 @) ) ) a 1 0 0
0 0 o0 1 ¢ 1 0 0 0
60. 001000000000, b0D00D0DOO0O
z+2y+3z2=a x4+ 4y +3z2=1 x4+ y+az=1
(1) 224+3y+5z=2a—1 (2) 20 +9y+72=3 B) zday+ z=1
3r +ay + 82 =2a+14 ay +2z=15 ar+ y+ z=1

61. n000 POO0OOOE+POOOOOOOODOA=(E—P)E+P)'0000
(1) E+A0D00000000000

(2) P=(E-A)(E+A)"'000000000

(3) POO0OOOOODDOOOAOOONDOOOOOOON!'A=-A00000000

(3) P:(@ﬁ _mw>DDDDADDDDDDDDDG#@k+Dw%EZ)DDDD
sin cos

62. 000000000 TaylorOOOOOODOOOOOO
(1) f(x)O (0,00) 000000000 lim f(z)=a000 lim{f(z+1)- f(2)}=a.

fla+h)—2f(a) + fla—h)
m
h—0 h2
(3) f(x)00 «000O0ODOO0 3000000 M2)0000DOOfa #00000A0O00 A0

f(a+h):f(a)+f’(a)+hf'(a)+%f”(a—kﬁh)DDDDDDD}ILE%G:%.

= f"(a). 0000 f(z)00 «000000 200000

63. Taylor OO0 (D00 Maclawrin 00 0)0000O00000OO00OO0OOO

Vitr—1—2/2 T e in?z — 22 22
(1) lim +x x/ @) i &€ x (3) lim sin“z — =z ) (tanm)

x—0 1‘2 x—0 .’EB x—0 {E4 x—0

64. DODOOOOODOOOOOOO

(1) e 0 MaclawinO00O0OO0O00O0O0e00O0000002200000000:00000000000
000?000000000C000DODO0O00D2<e<30000000

(2) 2 =0.5236(=n/6)0000sin2z0 Maclawin 0000 250000000 0.5000000 0000000
0000000000000 csz00000 220000000 0.8660254(=+/3/2) 00000000
000000000

(3) 000000000 50000000 (a) log2 (b) V126 (0O O: 5% = 125)



